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Choose the best answer.Cutting overwriting and use of inkremover is not allowed

1

G)) T:%\/ﬁ (b) T=21t\/E
g k
(C)T:Zn\/z @ Tzzn\/g
g /

For simple pendulum the formula of time period is:
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Sound is form of -------------- energy? < fﬁ J 10— F3 2
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(a) Mica= ) (b) plastic (a) Y (b) Ll
(c) PRaper (d) Aluminimum (c) (d) 3”2:1
6 What wilbbe the voltage across the 6 Ohm ' a:/j/uﬂ‘é t’zfu‘f'/g/’f:Bcu:/“/’/L ﬂ!’ﬁug 6
resistor when 3 Ampere current passes through it Y .
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7 The unit of current is: -4“_&;’,(&/ 7
(@)  volt (b)  ampere (a) A (b) L
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8 When number of turns in primary coil is garter ... N Irnslie ‘ﬂj/ 1Ll ,&JJ SHJ (ﬁ,’/ gA T
than secondary coil, this transformer is called: Ut s e
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(a)  Stepup (b)  Step down @ = ’ *": (b) Tl
(c) Stepup (d) up & down © The () Wk
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1% One mega byte is equal to: s Lhgafl 10
(a) 1024 KB (b)  1024MB (a) 1024KB (b)  1024MB
(¢) 1044 KB (d 1054 MB (c) 1044KB (d 1054 MB
11 In computer terminology information means. . a.«ﬁfgu%@l Gt Jpd 11
()  Any data (b) Rawdata @ L (b) G35
(c)  Processeddate (d) large data (©  kiiey (d 3131
12 One of the isotopes of uranium. “U Find the number JU”J””’J’V”” e U u}/,; ’“'(Kf*/" 12
of Neutrons in this isotopes is:
(@) 92 (b) 146 (a) 92 (b) 146
(c) 238 (d 330 © 238 (d) 330
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